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00 General Aptitnde

Section Id : 913943199

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 42

Number of Questionsto be attempted: 42

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 913943771
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 91394315121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 1 Question Id : 91394315121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 2 Question Id : 91394315122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 2 Question Id : 91394315122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 3 Question Id : 91394315123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 3 Question Id : 91394315123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 4 Question Id : 91394315124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

Question Number : 4 Question Id : 91394315124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 5 Question Id : 91394315125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:



Question Number : 5 Question Id : 91394315125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 6 Question Id : 91394315126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 6 Question Id : 91394315126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 7 Question Id : 91394315127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 7 Question Id : 91394315127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:



Question Number : 8 Question Id : 91394315128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 8 Question Id : 91394315128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 9 Question Id : 91394315129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 9 Question Id : 91394315129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 10 Question Id : 91394315130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 10 Question Id : 91394315130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Sub-Section Number: 2
Sub-Section 1d: 913943772
Question Shuffling Allowed : Yes

Question Id : 91394315131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension



Sub questions

Question Number : 11 Question Id : 91394315132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 12 Question Id : 91394315133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 13 Question Id : 91394315134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 14 Question Id : 91394315135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 15 Question Id : 91394315136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Id : 91394315131 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension

Sub questions

Question Number : 11 Question Id : 91394315132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 12 Question Id : 91394315133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 13 Question Id : 91394315134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 14 Question Id : 91394315135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 15 Question Id : 91394315136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Sub-Section Number: 3
Sub-Section 1d: 913943773
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394315137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 16 Question Id : 91394315137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 17 Question Id : 91394315138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 17 Question Id : 91394315138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 18 Question Id : 91394315139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 18 Question Id : 91394315139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 19 Question Id : 91394315140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 19 Question Id : 91394315140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 20 Question Id : 91394315141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 20 Question Id : 91394315141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 21 Question Id : 91394315142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 21 Question Id : 91394315142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 22 Question Id : 91394315143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 22 Question Id : 91394315143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 23 Question Id : 91394315144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 23 Question Id : 91394315144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 24 Question Id : 91394315145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 24 Question Id : 91394315145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 25 Question Id : 91394315146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

Question Number : 25 Question Id : 91394315146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 26 Question Id : 91394315147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 26 Question Id : 91394315147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 27 Question Id : 91394315148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 27 Question Id : 91394315148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 28 Question Id : 91394315149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 28 Question Id : 91394315149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 29 Question Id : 91394315150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 29 Question Id : 91394315150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 30 Question Id : 91394315151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 30 Question Id : 91394315151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Sub-Section Number: 4
Sub-Section Id: 913943774
Question Shuffling Allowed : Yes

Question Id : 91394315152 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Sub questions

Question Number : 31 Question Id : 91394315153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 32 Question Id : 91394315154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 33 Question Id : 91394315155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 34 Question Id : 91394315156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

b
913345539533, I



Question Number : 35 Question Id : 91394315157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Id : 91394315152 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sub questions

Question Number : 31 Question Id : 91394315153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 32 Question Id : 91394315154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 33 Question Id : 91394315155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 34 Question Id : 91394315156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

).
91334553533, I

Question Number : 35 Question Id : 91394315157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Sub-Section Number: 5
Sub-Section 1d: 913943775
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394315158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 36 Question Id : 91394315158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 37 Question Id : 91394315159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

Question Number : 37 Question Id : 91394315159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 38 Question Id : 91394315160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 38 Question Id : 91394315160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 39 Question Id : 91394315161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 39 Question Id : 91394315161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 40 Question Id : 91394315162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 40 Question Id : 91394315162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 41 Question Id : 91394315163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 41 Question Id : 91394315163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 42 Question Id : 91394315164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 42 Question Id : 91394315164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

Question Number : 43 Question Id : 91394315165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 43 Question Id : 91394315165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 44 Question Id : 91394315166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Question Number : 44 Question Id : 91394315166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 45 Question Id : 91394315167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

Question Number : 45 Question Id : 91394315167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 46 Question Id : 91394315168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 46 Question Id : 91394315168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 47 Question Id : 91394315169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 47 Question Id : 91394315169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 48 Question Id : 91394315170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 48 Question Id : 91394315170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Question Number : 49 Question Id : 91394315171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:



Question Number : 49 Question Id : 91394315171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

Question Number : 50 Question Id : 91394315172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



Question Number : 50 Question Id : 91394315172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

Paper 1
Group Number : 2
Group Id: 913943200
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0
Group Marks: 200

01 Bconorrics

Section Id : 913943200
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 913943776
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394315173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has been awarded the Nobel Prize in Economics “for analysis of
markets with asymmetric information™ ?

Options:
91394359501 nenard Thaler
Paul I{l'l.lgma_n
91334553602,
George A. Akerlof
B912334559603.
913294259604 Robert A. Mundell

Question Number : 51 Question Id : 91394315173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“sremfird gEmaT % Y AT % fve” ¥g frefiRed 3§ @ RRd ‘starer S o R
TR ?
Options:

291594259601, e

dfet T

91334553602,



Hiat U, IFFATE
91394359603,

Taé . quad

91334553604,

Question Number : 52 Question Id : 91394315174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The price elasticity of a linear supply curve through the origin is
Options:

91394359605, 2°T°

Unity
91394359606,

91394359607, |nlnite

Less than unity
913245353608,

Question Number : 52 Question Id : 91394315174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tqer-farg @ Tt g8 Waw amafd @5 it Fra &= @t
Options:

912334559605, =

913345536086,

91334553607,

TS B

91334553608

Question Number : 53 Question Id : 91394315175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements about the Average Fixed Cost of a firm :
(i) Its slope is always negative.

(ii) Its slope is always greater than one.

(iii) Its slope is always equal to one.

(iv) Elasticity with respect to output is equal to one.
Choose the correct answer from the code given below :

Code :

Options:

Only (i)
2194259609,

(ii) and (iii)
91294359610

(i) and (iv)
9194359611,

Only (iii)
91394359612,

Question Number : 53 Question Id : 91394315175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tereft wrt it aftaa fobr @rma & et d Freafafan st w fmm fifiw
(i) §HI ST Hed FUMeH Bral &
(il) g5 BTt wea gahrs o fersh gar & |
(iii) SHI TT61 Ted JHI§ & S Bl 2 |
(iv) IeUTEGH & T H T 315 o e Bl 8 |

= i e e & & wdt I S gfc
H2:
Options:
FaA (1)
91394359609,
(ii) 31 (iid)
91394359610,
(i) #HT (iv)
91394359611
A (iii)
91394359612,

Question Number : 54 Question Id : 91394315176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The presumption that costly new knowledge would be undersupplied by the private sector is
based on the essential characteristic of new knowledge.

It is (A) and (B)
Options:

(A) Non-rivalous (B) Non-excludable
Q1394259513

(A) Non-rivalous (B) Excludable
91394259514,

(A) Rivalous (B) Non-excludable
Q13943259515

(A) Rivalous (B) Excludable
Gl13a432E95]16.

Question Number : 54 Question Id : 91394315176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tz aroon f Frsft & g wdh U s i Fw e i areht, Tu e B s G w s
2

TE2(A) #HT(B)

Options:

(A) TrafareadT (B) st
91394359613,

(A) Tr-afereadT (B) sga<a
91394359614,

(A) wfeeadf (B) T-argesita
91394359615,

(A) gfereadf (B) srqa=Hta
91394359616,

Question Number : 55 Question Id : 91394315177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If for the constant elasticity of substitution production function, the value of the
substitution parameter (p) is = — 1, the elasticity of substitution will be

Options:

91394359617, Z°T°

91394350615, 1niinite



Unity
913343593613,

91394350620, |ndeterminate

Question Number : 55 Question Id : 91394315177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fer gftreemem & 3earea S & ded A afe afecem w=e (p) ®1 9 = - 1 8, Tt afeeeme
it gt

Options:

91324359617, A
91324353618, A
915324353619, e
91394359620, st

Question Number : 56 Question Id : 91394315178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The problem of adverse selection arises due to

Options:
Asymmetrie information
Q1294359621
513943596272 No information
91394359623 Full information
Wrong information
Q1594259624

Question Number : 56 Question Id : 91394315178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wferpet == i wwe Frfeafaa & & fora sroo @ se= gt 2 2
Options:

Fremfid ge
91394359621



FE =1 AR

91334559622,
1334553623, Tf

Teqd AT
91334559624,

Question Number : 57 Question Id : 91394315179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the following statements about the law of variable proportions :

(i) Input ratio remains unchanged.
(ii) Ultimately the marginal and average product of variable input becomes negative.

(iii) Effect of technological change is visible on output.
Choose the correct answer from the code given below :

Code:
Options:
(i) and (ii) are correct
91334553625,
Only (ii) is correct
H1334559626.
(ii) and (iii) are correct
B91334553627.
91394359608, None of the above statements is correct

Question Number : 57 Question Id : 91394315179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qftadsfter srqarat % Fram & et & Frafafas St o famm fifsg

(i) ¥NTd ST sfafda |

(i) era: ftadafier smma 6t dara aft sftod seargehan o & Sdt |
(iii) Frfa @ aoftr aftad= 1w gfee=n g & |

fr g e g F @ aft I = gh:
e :
Options:
91594359625, R {ii}ﬂ'é’lﬁ
Hae (i) & 7

91334553626,



(ii) 31T (i
91394359627, ) )Tt

o w3 3 o oft v T 2

91334553628,

Question Number : 58 Question Id : 91394315180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Inada conditions are applicable to

Options:
91394359609, A well-behaved investment function

A well-behaved consumption funection
215942596350,

A well-behaved production function
91394359631,

A well-behaved technical progress function
91394359632,

Question Number : 58 Question Id : 91394315180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gret v Freafafas & @ fem @ e aft 2

Options:

gogagtia few wem
91394359629,

geqagiid I99IT B
91394359630,

HedgIitd IeTe Fer
91394359631,

geqagiia Tt wifa wed
91394359632

Question Number : 59 Question Id : 91394315181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements is/are correct about normal profit ?

Options:

It is earned in the lon riod only.
91394359633, & pe ¥



It is earned in the short period only.
91394359634,

It is earned in both the long period and the short period.
91394359635,

It iz earned only in perfect competition.
Q1394359536 v pe pe

Question Number : 59 Question Id : 91394315181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ETHg @Y & an 4 Frefafa su=t § @ shava ad 28 2
Options:

91304350653, TE A 4 st sk foem o |

Ig sae Hey waty § wfag T smar &
91394359634,

01304350635 T8 A HAY S e st g o sff fon s @

ag Fad i sfeatfiran # sifefa foram sman 2
91394359636,

Question Number : 60 Question Id : 91394315182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the statements about Pareto optimality is incorrect ?
Options:

91394359637 Consumers maximise their satisfaction.

All the factors are used in production of all the commodities.
2153942596355,

There is perfect competition in the factor and commodity markets.
91334253633,

Consumers have cardinal utility functions.
91394359640,

Question Number : 60 Question Id : 91394315182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fet srgpera & ot # Feafofes o & 8 Fm @t agt 2 2

Options:



91394359637, et wafee it srferaw i € |

ot aegad & Iearea & woft w6 v fo S @
91394359638

3ftt aeq arard § qof sfeatfiman
91394359639 T SR T kS ¢

ITAIFIAT & AECHS I B & |
91394359640

Question Number : 61 Question Id : 91394315183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An economie region of production consists of

Options:

The itively slo rtions of all isoquants
91394259541 post y sloped po 1=

The negatively slo rtions of all isoquants
Q1394359542 8 y sloped po tsed

The middle of all isoquants
91394259645,

The highest points of all isoquants
Al 294259044 '8 po =

Question Number : 61 Question Id : 91394315183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IS 1 AU & HA-H1 g B 2
Options:

01394350641 T WHICAE i F AT T A HOT

91394350642, TN 3 ftedre, ashl o e eTel ared {1

a¥ft a9ieaTe 3Rl = weg W
913943596453,

A+t awteaTg Rl % =R fag

91334559644,

Question Number : 62 Question Id : 91394315184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements about rational expectations is false ?

Options:

It assumes that people take account of all information.
215394259645,

It assumes that on an average the forecasts made by the public are correct.
91334253646,

It implies that the expected changes in demand have no effect on unemployment.
913943259047, P g ploy

It implies that unexpected changes in demand have long lasting effect on both

unemployment and price level.
913942359648,

Question Number : 62 Question Id : 91394315184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Torarerqel weaman & st # Frsfefaa ot 4 @ s 76w 2 2
Options:

75 wral & fo & ot geme W faam w o wm e |
91394359645,

91394359646, g Hra @ o S g e e @iy e e A @

91394359647 T o7 & f win #§ wenfm afad=t & St W i e T8 w8 |

91394359645, s 7 & o win # stverfim oftad=t & stadt o Fime s g1 @ el wmE g #

Question Number : 63 Question Id : 91394315185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who amongst the following economists treated nature to be niggardly ?
(i) J. 8. Mill
(ii) David Ricardo
(iii) Karl Marx
(iv) Thomas Robert Malthus
Choose the correct answer from the code given below :
Code:
Options:

(i), (ii) and (iii)
21594259649,



(i) and (iv)

91394359650,

(iii) and (iv)
91394359651,

(ii) and (iii)
91394359652,

Question Number : 63 Question Id : 91394315185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freferfiaa srefafeat 4 & fee wefa &t Fowm gwm a2 2
i . fa

(i) sfae fraret

(iii) el T

(iv) oT9d Tad qrea™

e fiw e 5 F & = s o g

E %

Options:

(i), (ii) 3T (i)
91394359649,

(ii) 3t (iv)
91394359650,

(iii) 37 (iv)
91394359651

(ii) 3 (iid)
91394359652,

Question Number : 64 Question Id : 91394315186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which amongst the following is/are correct for the Keynesian model ?
Options:

It assumes full employment of resources.
913343539653,

It ignores the money market.
91334353654,

It is supply determined.
913245353655,

91394359658, None of the above



Question Number : 64 Question Id : 91394315186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

it Afee & fou Frafefea da shma ad 2 2 2

Options:

Fg GETAT 1 qU1 I q=ET R
91394359653.

Tg AT ATAT I HHAT B
91394359654,

Fmqfd Feffea

91394359655, T t

I A °
91394359656, I

Question Number : 65 Question Id : 91394315187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to New Classical Economics, Real Business Cycles are the result of which of the
following ?

(i) Innovations
(ii) Bad Weather
(iii) Tax Policy

(iv) Debt Policy
Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
915943596857,

(1) and (iii)
913494359658,

(iii) and (iv)
91Z94359EE59,

(i) and (iv)
91394359880,

Question Number : 65 Question Id : 91394315187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



79 FeAlltehel ST % N, aredfas saran 9% Frefefaa ° @ froes ufom § 2

(i)  TagEdd
(i) @ HtEw
(i) = Afa
(iv) = Afa
Fr= R T ge & @ vt IR ghe
E:
Options:
(i) 3 (id)
91394359657
(i) T (iii)
91394359658,
(iii) 3 (iv)
91394359659,
(ii) 31 (iv)
91394359660,

Question Number : 66 Question Id : 91394315188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following diagram and the statements :

A g
Saving
0 / > Income
(1) Saving is positively related to income.
(ii) Marginal propensity to save is positive, but less than 1.

Choose the correct answer from the code given below

Code:
Options:
Only (i)
91594359661,
Both (i) and (ii)
91594359662,

Only (ii)
21394259663,



Neither (i) nor (ii)
913943596641,

Question Number : 66 Question Id : 91394315188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

Fa (i)
91394359661,

(i) 3T (i
91394350662, O (@) L

Fa (i)
91394359663,

Far (i) AT i
91394359664,

Question Number : 67 Question Id : 91394315189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An increase in the level of government spending, other things being equal, will in the
I5-LM model

Options:

Increase interest rates, shifting the LM curve to the left
31394359665,

Increase the level of equilibrium income at all interest rates, shifting the IS curve right
215394359666,

Lower interest rates, shifting the LM curve to the right
91394359667,



Always move an economy to full employment
91394359665,

Question Number : 67 Question Id : 91394315189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=1 gt ardl % waE g4 B g H SR % @d & T H 9fg 1S — LM Hied & st
Frefeafiga & & @ wma 93m 2

Options:

a¥ft =t g0 | 9fg, LM 956 1 Al 7R st
91394359665,

ot =T g0 W Hged 99 % T H afg, ISTE A et
91394359666, w L i

7o gl § HHT, LM S i AR 3=
91394359667 i G

Freferatyr it gda quf e i 37 & S
91394359668

Question Number : 68 Question Id : 91394315190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a hypothetical economy, the rate of growth of nominal GDP is 15% per annum, the
annual rate of growth of GDP deflator is 5%. If the population is growing at the rate of
growth of 2% per annum, what will be the annual rate of growth of per capita real GDP ?

Options:

91334553669, 8%

215394259670, 10%

B12334559671. 3%

91334553672, 7%

Question Number : 68 Question Id : 91394315190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feret wftenfetra srefeaaean &, Hifgs awa 9o 3o (.84, ) i afg ¢ 16% o1fis &, oa we
IeTg Faehiaeh 6 arfie 9fg @ 5% 2 | 9 sgEm | 2o wed R fg @t & @, ot ofe
sufth Hehel Wite] IeUTE <1 aTfieh gfg g # enft ?

Options:



8%

91334553669,

91334553670, 10%
H1334559671. 3%
13345353672, T4

Question Number : 69 Question Id : 91394315191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In an economy with a linear homogeneous Cobb-Douglas production function, the share of
capital and labour in total output are, respectively, 40% and 60%. The capital stock and
labour force are growing, respectively, at 8% and 3% per annum. If the rate of growth of
output is recorded as 7% per annum, then the rate of growth of Total Factor Productivity
will be

Options:

B12334559673. 4%

91334553674, 1%

H1334559675. 10%

91334553676, 2%

Question Number : 69 Question Id : 91394315191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fereft Yeftn Tt hia-gmerm IeareT o arelt stdferata # $a IeareT # SRt aun am v feem
FI: 40% 9T 60% B | Toftra weish aun om ofn & o s awm s affs R aafgar @i g
afg Feares A afg @ 7% i ol i 1 &, 9 Fo arus Ieargswar 6 9fg g wm gt 2

Options:
91394359673, 4%
91394353674, 1%
91324353675, 10%
2%

21594259676,



Question Number : 70 Question Id : 91394315192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Bent Hansen, which amongst the following were treated as factors enhancing
effective demand ?

(i) Public expenditure
(ii) Rising population

(iii) Banking and financial system
Choose the correct answer from the code given below :

Code :
Options:

(i) and (iii)
B1334559677.

(i) and (ii)
91334553675,

(ii) and (iii)
Q1294359679

(i), (ii) and (iii)
215394259680,

Question Number : 70 Question Id : 91394315192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
¥z 7oA & o, Frefafas 4 o f6 mreht oin 9gm & @vm & w9 d w2 0
() A =
(i) wed! §§ sHaed
(i) ffp 3 forefra swaen
2 R e g A A v I A SR
he :
Options:

(i) 3T (iii)
9139435967 7.

(i) 3 (id)
9139435967 5.

(ii) 3t (iid)
91394359679,

(i), (i) T (iii)
91394359680,



Question Number : 71 Question Id : 91394315193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mateh List I (Authors) with List 11 (Books) and choose the correct answer from the code
given below :

List I List IT
(Author) (Book)
(a) Milton Friedman (i) Das Kapital
(b) Joseph Schumpeter (ii) Capitalism and Freedom

(d) Thomas Piketty (iv) Capitalism, Socialism and Democracy
Code:
Options:

(a)—iii), (b)(id), (e)—(i), (d)—{iv)
91234353681,

(a)-ii), (b)—(iv), (e)—(i), (d){iii)
91594359682,

(a)—(iv), (b)—(iii), (e)-(1), (d)—(ii)
91334253653,

(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
91234353654,

Question Number : 71 Question Id : 91394315193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 (Srah) =t g2t 11 (geah) & ane gafa i o = g 7o 52 4 & =@ 3w g
|l I q I
(vra) (ge=)

(a) firees fieiq (i) g Hfves

(b) FrEw IPfiet (i) Hfrefaww we drem

(c) Tel wTed (i) $freer 57 2 21°° Aegerh
(d) <o fresdt (iv) Hfefersn, gifimfasy we o
% :

Options:

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
H91334559681.

(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
91334353682,

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
91394359685,

(a)—(iii), (b)—(1), (e)-liv), (d)—(ii)
91594359684,



Question Number : 72 Question Id : 91394315194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

On which of the following do Keynesians and Monetarists agree ?

Options:
The most important cause of demand shocks is changes in supply.
21394259685,
The demand for money is interest elastic.
1594359656,
Output deviates at times from the potential output because of demand shocks.
91394359687,
When there is recessionary gap, flexible wages will retrieve the labour market to
equilibrium quickly.
91394359688,

Question Number : 72 Question Id : 91394315194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frfeafaa @ & form w Frdta it ggrardt wewa & 8 2

Options:

g T 1 gad TEe i ufrada
91394359635, o e st g d |

Hqg1 it win s A gt g
91394359636,
91394359657, kT & HIT IeNG, T Ieare B Fofl-ft ferafera @ 2

it 1 sie g R, T wwed i R wge @

91394359688, ] &1 2, T wgll e € i A A g Wy J | et |

Question Number : 73 Question Id : 91394315195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to the cash-balance approach, the elasticity of demand for money

Options:
91394359659, 1°lessthan one
91394350650, 15 more than one

Iz equal to one
91394259691,



Fluctuates with the changes in the phases of inflation
91394359692,

Question Number : 73 Question Id : 91394315195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fehq, I IUTTH % AR, qg1 6t 741 At =7

Options:

o wq
91394359659, =

& #fis
91394359690, R

& T
91394359691 =

whifa = =it & aftads & @ Ian-HgE w8
91394359692,

Question Number : 74 Question Id : 91394315196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following act as an instrument to help in the borrowing by the government ?
(1) Repo Rate
(iiy  Reverse Repo Rate
(iii)y CRR

(iv) SLR
Choose the correct answer from the code given below :

Code :

Options:

(i) and (iii}
91394359693,

Only (iv)
21394259694,

(1) and (iv)
91394359695,

(i) and (iv)
Q1394359696

Question Number : 74 Question Id : 91394315196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafeafiaa 4 & - awr gro s &9 3 v suwm & w9 wr war g ?
i) T el @ (W R)

(i) weamad! g @ity gt (fed Wt @)

(iii) mfira Tedt Fiftr e (<ft. e am.)

(iv) Surfes Tedl ST (T8, 0. 3. )

= fu e Fe & & o I+ g
H2:
Options:
(i) 3T (iii)
913943596973,
Fad (iv)
91394359694,
(i) #H (iv)
91394359695,
(iii) 3 (iv)
91394359696,

Question Number : 75 Question Id : 91394315197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A rise in general price level may be caused by which amongst the following ?
(i)  An inerease in the money supply
(ii) An increase in the aggregate level of output

(ili) An increase in the effective demand
Choose the correct answer from the code given below :

Code :

Options:

Only (iii)
Q1394359697

(i) and (ii)
91294359695,

(i), (ii) and (iii)
9194359699

(i) and (iii)
91294353700,

Question Number : 75 Question Id : 91394315197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafiaa o & fraes s ron g g v A ofg & gt 8 2
() Her wmgfd # afg

(i) Ie9TEA % e T A 3fg

(iii) st win & 9fg

Fr= fau Mo w2 7 @ wE I g

C T

Options:

Fad (iii)
91394359697

(i) 3 (ii)
91394359698,

(i), (i) T (iii)
91394359699,

(i) 3T (iid)
Q13942597 00,

Question Number : 76 Question Id : 91394315198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The concept of Universal Banking in India was recommended by which of the following
committee ?

Options:

91394355701 Abid Hussain Committee

91394359702, R.H. Khan Committee

91394359703, 5. Padmanabhan Committee

Y.H. Malegam Committee
91394259704,

Question Number : 76 Question Id : 91394315198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa & & form wfifa 3 v d wreitfis St 6t sragmom i frefor 6ot 2

Options:

g gl i

91334559701,

M. wE, @ wfafa
91394359702,



wH, =AY atufd
91394359703,

0, " afafa
91394359704, T

Question Number : 77 Question Id : 91394315199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the required Capital Adequacy Ratio for a new bank to apply for a license, under
the draft guidelines of RBI ?

Options:

9 percent
913942539705, pe

10 percent
91394353706,

11 percent
91334353707,

12 percent
91334559708,

Question Number : 77 Question Id : 91394315199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

.. 3, % ey fen-FEe % simfa foredt 70 < o for wed=g o1 smmeE 0 7q enfera ot
qafeadt sigara feRaan 2 2

Options:

91334353705, 9

91334353706, 10

91334553707, 1

91334553708, 12

Question Number : 78 Question Id : 91394315200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following iz nef an objective of Marginal Cost of funds based Lending Rate
(MCLR) ?

Options:



To improve the transmission of policy rates into the lending rates of banks
91394359709

To ensure availability of bank credit at interest rates which are fair to borrowers are well as

91394359710, Panks

To enable banks to become more competitive
21594259711,

To enable the RBI to achieve the inflation target
91394359712

Question Number : 78 Question Id : 91394315200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafefiga 4 & a1 v it diarg @ snafa s @ (wdt e an) s RE T 2

Options:

Hifer 50l % st &t 3url g0 # artwer i gaTEn
91394359709, « <
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Question Number : 79 Question Id : 91394315201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List II and choose the correct answer from the code
given below :

List I List IT
fa) n=Pk (i)  A.C. Pigou
(b) M=PKT (ii) Keynes
() P= kR (iii)  Alfred Marshall
M
(dy M=z=zkPY (iv) D.H. Robertson
Code:
Options:

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
H1334559713.



(a)-1), (b)-11), (e)-iii), (d)-iv)
91394359714,

(a)—(iv), (b)—(i), (e)—(ii), (d)—(1i1)
91394359715,

(a)—iii), (b)—(ii), (e)—(1), (d)—(iv)
91334559716,

Question Number : 79 Question Id : 91394315201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

(a)ii), (b)—iv), (e)i), (d)iii)
91394359713,

(a)—1), (b)—11), (e)-(iii), (d)—iv)
91394359714

(a)—(iv), (b)—(i), (e)—(ii), (d)—(1i1)
91394359715,

(a)—iii), (b)—(ii), (e)—(1), (d)—(iv)
91334559716,

Question Number : 80 Question Id : 91394315202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The statement, “Too much money chasing too few goods” is based on which of the following
theoretical concepts ?

Options:
uantity theory of prices
Gl13943259717. Q &4 yolp
uantity theory of mone
Q1394359718 Q &4 v Y

Inventory theoretic approach to the demand for money
B13345597148.



91394359700, 1eal balance effect

Question Number : 80 Question Id : 91394315202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“agd vaTE1 1 Wgd & wH aegad F frer =t §7 97 wun Prefefaa § @ fe dgfs e w
i 8 7

Options:

Fraat =1 g fagea
91394359717,

a1 w1 ufmm fagra
91394359718

Hg1 <t w1 AreE Agifes I

91334353719,

91334353720, n

Question Number : 81 Question Id : 91394315203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following said that “Money iz a temporary abode of purchasing power” ?
Options:
91394359721 Irving Fisher

91394359720 Milten Friedman

91394359723, William .J. Baumol

91394359724 O ames Tobin

Question Number : 81 Question Id : 91394315203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa 4 & feoe o= & 7 “qg1 s ol &0 sremft am 27 2

Options:

gfein e

913345359721,

91394359700 1 HISH



2153394259725, *

91334353724, i

Question Number : 82 Question Id : 91394315204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is netf part of the Peacock-Wiseman Hypothesis ?

Options:

Displacement Effect
91394259725,

Inspection Effect
Al 3943259726,

91594359727 Concentration Effect

91394359728 Announcement Effect

Question Number : 82 Question Id : 91394315204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frfefiga & @ o deis-argasa s & m 78 8 2

Options:

91334559725,

B1334559726. el

Hehgul q9TE

91334553727,

91334559725,

Question Number : 83 Question Id : 91394315205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
An income tax will be progressive if
Options:

Marginal rate of tax is greater than the average rate of tax.
21394359729,



Marginal rate of tax is less than the average rate of tax.
91 23942E97 30, ag

Marginal rate of tax is equal to the average rate of tax.
Q13943259731 e a8

Marginal rate of tax is zero.
Q13943259732

Question Number : 83 Question Id : 91394315205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g s srfersfter i afg

Options:

1 <t HiqTa g, o i 3ftad g E Al R |
91394359729

WA HHa g, WA Aaa T HEFAE |
91394359730,

TR dmT g, A AGT T FaIHE |
91394359731

& g g R
91394359732

Question Number : 84 Question Id : 91394315206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The public expenditure in India is classified as capital and revenue. Which of the following
is/are revenue expenditure 7

(i) Subsidies
(ii) Interest payments on public debt

(iii) Wages and salaries
Choose the correct answer from the code given bhelow :

Code :
Options:
(1) and (ii)
91394359733,

(1) and (iii)
Q1394259734

(ii) and (iii)
Q1294359755

(i), (ii) and (iii)
91334559736,



Question Number : 84 Question Id : 91394315206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T # Gl =9 wt ot aur wea ° ffea G mn @ | Frafafes @ shavg oewe sm
L

() T "EEa
(i) @i T WS F YA
(i) werglt aff Fa=
Hr feu T g & | W I w9
% :
Options:
(1) 3 (i)
91394359733,
(1) 3T (ii)
91394359734,
(i) ¥ (i)
91394359735,

(i), (ii) 3T (i)
91394359736,

Question Number : 85 Question Id : 91394315207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following correctly describes the Musgrave and Thin's
measure of tax progressivity ?
where

Ga = (7ini's coefficient after tax,
(5. = (Gini1's coefficient before tax.

Options:

1-G
I\I = —a
T b
91394359737,

M= o
G]J

91334553738,

1-G
M=_"1b

91394359739, a



I'II =

B1334559740,

Question Number : 85 Question Id : 91394315207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:
M= a
91394359737, b
M G“
= o
91394359738,
-G
I'II = b
91394359739, a
G
I'II = b
Gﬂ
91394359740,

Question Number : 86 Question Id : 91394315208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

GST which came into effect from 15° J uly, 2017 has four (04) tax slabz applicable to the
commodities and services in India. Which of the following tax slabs are correct ?

Options:

5%, 12%, 18% and 28%
21394259741,

5%, 8%, 12% and 18%
91394359742,

8%, 12%, 18% and 28%
91334553743,



8%, 12%, 15% and 18%
913345539744,

Question Number : 86 Question Id : 91394315208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1 918, 2017 8 90 95 & dar (. wn ) & searia wred § aeqat aun g WA (04) W
e ? | Peffar dd sRd e ah €0

Options:

5%, 12%, 18% 3 28%
91394359741

5%, 8%, 12% 31T 18%
91394359742,

8%, 12%, 18% T 28%
91394359743,

8%, 12%, 15% T 18%
91394359744,

Question Number : 87 Question Id : 91394315209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to the Union Budget, which of the following Fiscal deficit targets for 2018 — 19 is
correct ?

Options:

91394359745, 5% of the GDP

91394350746, +3% of the GDP

91394359747, O 0% of the GDP

91394359745, +D% of the GDP

Question Number : 87 Question Id : 91394315209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g weie o ER, 9§ 2018 — 19 % fou Freafafad & & s vendt ae =1 @ ad 2 2
Options:

Heel THe] IS T 3-3%
91394359745,



Hehel Tl IS I 4-3%
91394359746

Heel HHe] ITU1E T 5-3%
91394359747,

Herel Hle] I I 4-5%
91394359748

Question Number : 88 Question Id : 91394315210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Why are indirect taxes called regressive ?

Options:

They are charged at higher rates than direct tax.
91334353749,

They are charged at the same rate for all income groups.
91394259750, y 8 groups

91304535575 Doth above are correct

9139435975, vone of the above are correct

Question Number : 88 Question Id : 91394315210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
rqeged FA1 ot gfereft =i i S g 7

Options:

# weay R gorn § It gl o i feeg ame #
91294359749,

& wft a1 TEl % fore mmm g o i e s €
91394359750,

I g wet

91384559751

I 4 8 i oft adt 7l R

91334553752

Question Number : 89 Question Id : 91394315211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following :
(i) Fringe Benefits Tax
(ii) Capital Gains Tax

(ili) Securities Transaction Tax

Which of the above is/are Direct Tax/Taxes ?
Choose the correct answer from the code given below :

Code :

Options:

(ii) and (iii)
91394359753,

(1), (i) and (iii)
91394359754,

Only (i)
91394359755,

(i) and (iii)
91394359756,

Question Number : 89 Question Id : 91394315211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafign w femm Hifa
(i) T ™ W
(ii) dofbra afirems =
(i) wfefer S92 =
I i @ A v w2
2 R e e § @ W IR IR
C T

Options:

(ii) 31 (iid)
91394359753,

(i), (ii) 31 (i)
91394359754,

Fad (i)
912942597 EE

(i) 3T (iid)
91394359756,

Question Number : 90 Question Id : 91394315212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following will result in the ‘crowding in’ effect in the economy ?
(i) Public borrowings to finance spending on infrastructure

(ii) Public borrowings to finance spending on salaries and wages
(iii) Public borrowings to finance spending on health and education

(iv) Public borrowings to finance spending on skill development
Choose the correct answer from the code given below :

Code :

Options:

(1), (ii) and (iii)
213942359757,

(iii) and (iv)
91394359758,

(i), (iil) and (iv)
91394359759,
V1394259760, (i and (i)

Question Number : 90 Question Id : 91394315212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Feferaeen # Frafafaa # @ feras afmreasy ‘smin’ wma gm 2
(i) MaTd FE 7w & famdtee % fo ardefe gard
(i) e ¥ worght v sa o farediow o forg ardstaen ard
(iii) FarEen IR firen v = % famdon % foe et gurd
(iv) et foerma o = % fadram 3 for ardafe sard

= R e %2 | & o I gfc
?‘:
Options:

(1), (ii) 3 (iii)
91394359757,

(iii) W (iv)
91394359758,

(i), (iii) 3 (iv)
91394359759,

§ G-fR iw
91394359760, () AR

Question Number : 91 Question Id : 91394315213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Development expenditure of the Central Government does not include
(i)  Grant to States under Centrally sponsored schemes

(ii) Expenditure on social and community services
(iii) Expenditure on economic services

(iv) Defence expenditure
Choose the correct answer from the code given below :

Code :

Options:

(1) and (ii)
Q1394259761

(ii) and (iii)
Q1594259762

Only (iv)
Q1294359753

(iii) and (iv)
Q915394259764

Question Number : 91 Question Id : 91394315213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ey, TN o faere =g § aftifaa 78 2
(1) g gro it st & st wsEl W 3EE

(i) wrTfe st amggiie densd w s
(i) Pl Tamadt Wy

(iv) T8 =09
Fr= fow me 5 7 @ ot I W g
E :

Options:

(i) 3T (i)

91394359761,

(ii) 31 (iid)

91394359762,

Fad (iv)

91394359763,

(iii) 3 (iv)

91394359764,

Question Number : 92 Question Id : 91394315214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the basic neo-classical growth model, where does the growth equilibrium occur ?

Options:

Where investment per worker is equal to savings per worker.
Q1294359765 pe e B5 pe

Where investment per worker equals depreciation of capital for worker.
Q1294259768

Where investment per worker equals capital per worker.
Q1594259767 pe ed P pe

Where capital per worker equals output per worker.
Q1294359768 P pe e fput pe

Question Number : 92 Question Id : 91394315214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el Ta-AwiRn WG Hise § Wl Wqer Fal aa @ 2

Options:
o15aussares T S T B St FETR Tl % e g |
el ofer e fram f s doft-are 3 aue g #
91394359766
et sfer s Frder wfe s St 3 ae @ @ |
91394359767,
el sfa e it it renTR earg & e At
91394359763,

Question Number : 93 Question Id : 91394315215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Schumpeter Theory of Development, which of the following statements is
correct 7

Options:
The ex sion of economic output is limited by the real savings of the economy.
Q1294359769 pan P y & y
Democracy enhances the efficiency of an economic system.
Q13942597 70.
91594359771 All the above are correct

91354359772 None of the above are correct



Question Number : 93 Question Id : 91394315215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yedfter & fashra fagra & sgam, Frafafas s d @ FRm ad 2 2

Options:

P —— e Iearee 1 faeam srefegasen i aafas s=q1 gro @@ g1 2 |

wteRaa ueh anfife gomeft it garan =t "7 R |
91394359770.

I ot @ 8

91334553771

o o @ e T @

91334353772

Question Number : 94 Question Id : 91394315216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is/are correct about Uzawa’s theorem ?

Options:

The growth rate of output per worker, consumption per worker and capital per worker are

equal and constant over time.
21394259773,

The production function is linear homogeneous.
913394353774,

The technical progress is ‘Harrod neutral only.
91394259775, P v

9139435977, Allof the above

Question Number : 94 Question Id : 91394315216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Faran v & famy o Frafafes o & s-ard fa= a@t 28 2

Options:

uftr gl seareq, wfa e 3o oftt fe safe SRt hr afg @ gum @ oft oo ante fem 2
91394359773

I9TeA S g g 2 |
91394359774, &

91594359775, T ! srif e “s-deRd R |



o wft

91334553776,

Question Number : 95 Question Id : 91394315217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is true for Neo-Classical growth model ?
(i)  Rate of interest and profit are flexible
(ii) Capital is heterogeneous
(iii) Perfect competition prevails
(iv) Capital and labour are substitutable

Choose the correct answer from the code given below :
Code:

Options:

(1), (iii) and (iv)
91334553777,

(1), (i) and (iii)
212334559778,

(ii) and (iii)
Q139425977 9.

91394359750, “llof the above

Question Number : 95 Question Id : 91394315217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T4 Hafy wise & dag § =A@ 2 2
() =T i gL afi Ty T E

(i) oft Feramrim 2

(i) qot wferifirar @t &
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% :

Options:

(1), (iii) 3 (iv)
91394359777,

(1), (ii) 37 (iii)
91394359775,

(ii) 31 (iid)
91394359779.



o wft

91334553780,

Question Number : 96 Question Id : 91394315218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Technological dualism means
Options:
Prevalence of different production functions in the industrial sector in underdeveloped
91394359781, OUnes
Prevalence of different technologies in agricultural sector in underdeveloped countries
21394259782, o8t agr ped
Prevalence of different production functions in the advanced and traditional sectors in
underdeveloped countries
21394259783,
Prevalence of different production functions in domestic and export sectors of
underdeveloped countries
291394259784,

Question Number : 96 Question Id : 91394315218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

de-tehl gerarg o1 o7 2

Options:

91394359781, fershfira oot & sftenfier & 3 fafira seame wert 1 et
Freaferepiia 2§ Fiy &= # fafim el & T=em

91394359782,

o13943507gs O oA % IAA qo wrceien d A faft seare w1 s
ST 39 % Hie au frafa gt & fafie seg wert & e

91394359734,

Question Number : 97 Question Id : 91394315219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List IT and choose the correct answer from the code given below :

List I List I1
(a) Absorptive capacity of capital (i) M. Kalecki
(b) Technological dualism (ii) A.O. Hirschman
(¢) Physical quality of life index (iii) D. Morris
(d) Permissive and compulsive (iv) B. Higgins
sequences of expanding industries
Code:
Options:
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91594353755,
(a)—1), (b)—(ii), (e)—(iii), (d)—(iv)
91394359786,
(a)—(ii), (b)—(iv), (e)-(iii), (d)—(D)
21394359787,
(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
915943597586,

Question Number : 97 Question Id : 91394315219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It gt 11 & vy gafea Fifs oft A= fge o ge 4 @ aft a9 =t 9f .

A1 el
(a) doft it srawiveor apar (i) W, et
(b) dehATeht gaat (i) .37, g
() Hfte 1 witfoes Mo gaFis (iii) <. #ifE
(d) JeT o fowam 2g i w§ sfadd w0 (iv) &, R
E T4
Options:
(a)—(iv), (b)—(iil), ()i, (D)
91394359785,
(a)—(i), (b)—(ii), (e)—{iii), (d)—(iv)
91394359786
(a)—(ii), (b)—(iv), (e)~(iid), (d)—(i)
91394359787
(a)—(i), (b)—{iv), (e)—(iii), (d)~(ii)
91394359788

Question Number : 98 Question Id : 91394315220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The original interpretation of balanced growth relates to

Options:
All sectors growing at the same rate
21394259789,
Absence of shortages or excesses
21594353790,
Equal amount to investment in all sectors
91394359791,
Large scale expansion of activities to overcome divergence between private and social
91394359790, Penefits

Question Number : 98 Question Id : 91394315220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wafer wafz A @ e Frefifa & & frad wafE & 2

Options:
91394359789 TR Ta QAL
91394359790, T TN T
91394359791, T WA H W WA H P
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91394359792

Question Number : 99 Question Id : 91394315221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T.W. Schultz has given the following ratios in relation to education for economic growth :

Options:
91594359793, Education-income ratio
Eduecation-labour ratio, education-income ratio and education-investment ratio
Q12943259794
91594359795, Education-labour ratio

Education-capital and labour ratio
913942597936,



Question Number : 99 Question Id : 91394315221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A, soeq, oot 3 e wafy % fou e % wev # Frafefias sqom fan @ -
Options:

fnem-smma srgard
91394359793,

91394355794 farem-om argar, fren-ama s sft fen-fFrem s

frem-m srqara
91394359795,

frem-gsft sfi g srquma
91394359796, &

Question Number : 100 Question 1d : 91394315222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following Concept — Economist pairs is not correctly matched ?

Options:

Knife-edge Problem — Harrod Domar
913943597937,

Turnpike Conjecture — Dorfman, Samuelson and Solow
2913942359798,

Super Multiplier — J.M. Keynes
Q1394259799 pe P Y

Golden Rule of Accumulation — E.S. Phelps
91394359300,

Question Number : 100 Question Id : 91394315222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frerfeafian § & F-81 e — srefomeht qm w8 AR T8 & 7

Options:

SR THE — Blte-Simt
91394359797,

THTEH e — ek, Sgada ok gt
91394359798,

#fa — 9.1, $E
91394359799, = i



g=9 1 @ity fam — 3.0|, S
91394359800,

Question Number : 101 Question Id : 91394315223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is considered as the third stage in the Rostow’s Stages of Economic
Growth model ?

Options:

High mass consumption
91324353801,

Traditional society
21594259802,

91394359503, L reconditions for a take-off

91394350804 rake-off

Question Number : 101 Question Id : 91394315223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafiaa 4 & frast teta % anfdfes gafy & = wiga & draa = g s 2 2
Options:
91394359801, o Il S5

B1334553802.

Fgr it sraren % for g It
91394359803

91334553804,

Question Number : 102 Question Id : 91394315224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is/are true for Karl Marx’s Theory of Economic Development ?
Options:

Relations in production change independently.
Q13943259505 P g pe Y

Mode of production changes independently.
Q1 =2942E980E8. P 8 pe v



91394359807, Coih above

91394359303, None of the above

Question Number : 102 Question Id : 91394315224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fnfie faehra & wrel wred & fagra & gay o Frafafias 4 @ shava ad 24 2
Options:

I9TeA § Hay =g T @ 9ead & |
91394359805, ¢

01394350805, STNE B Al T ¥ A T E |

I 2l

B1334553807.

39w 4 @ g T8

91334553808,

Question Number : 103 Question 1d : 91394315225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the year 2015 — 16, India has not been an importer of which of the following products 7

(1) Apples
(ii)  Rice
(iii) Pulses

Choose the correct answer from the code given below :

Code :
Options:

(1), (1) and (11)
91334553809,

(ii) and (iii)
Q12943259510

(1) and (iii)
91334553511,

Only (ii)
913943595812,

Question Number : 103 Question Id : 91394315225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a9 2015 — 16 ¥, yra Fr=ffigs et 4 & o fag smms w2 7

(i) #a
(i) =rEs
(iii) e
fr= e me 5= # @ 7@ W g
C T
Options:

(1), (ii) 3 (i)
91394359809,

(ii) 31 (iid)
91394359810,

(i) T (iii)
91394359811,

Fad (i)
91394359812,

Question Number : 104 Question Id : 91394315226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Global Competitiveness Report is released by which of the following organisations ?
Options:

World Trade Organisation
91394259515,

91394359214, World Economic Forum

European Union
H1334559815.

91394350816, 'orld Bank

Question Number : 104 Question Id : 91394315226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafiga et 4 @ fras gru Sfvas sfeerutersar foad snd 6t et 8 2
Options:
21294259813, fee

2915942595814, e



d &

91334553815,

B912334559816. -

Question Number : 105 Question Id : 91394315227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Faisda s d Tds i’ s ugf @

Options:

fargeft weaer Frawr sgm 6t
91394259817,
913943593818, * i

fFrafa it ag™ it
915943595149,
91394259320, S i

Question Number : 105 Question Id : 91394315227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Round tripping’ in international trade is a method

Options:

To boost foreign direct investment
91394359517,
91394359818, | ° cradetax

To increase exports
91394359519,

Of financing start-ups
91394359520,

Question Number : 106 Question Id : 91394315228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Balance of payments on capital account does neot include
Options:

Balancing foreign direct investment
91394359521,



Foreign portfolio investment

91394359822,
91594359823, Net income transfers

Government loans to foreign governments
913943595324,

Question Number : 106 Question Id : 91394315228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt @t — oA Hqed § Fefafaa & @ St afefaa 9@ 22
Options:

fereaft wemer e &1 dqem
91394359821,

fargeft Sidwiferat fam
91394359822,

B12334559823. 3

farasft wrarl =i AT o
91394359824,

Question Number : 107 Question 1d : 91394315229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Devaluation will be more effective when
(i) International capital is freely mobile
(ii) International capital is not freely mobile
(iii) Marginal propensity to import is high
Which of the above statements is/are correct ?
Choose the correct answer from the code given below :

Code :

Options:

Only (ii)
91394359825,

Only (iii)
91394359826,

(i) and (iii)
913942359827,

(ii) and (iii)
Q1=2943595828.



Question Number : 107 Question Id : 91394315229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(i) srerisdta gt 1 varg Frafy 58 g 2
(iii) T i Hwid vafd afis @

I el i @ A A

4 R e g F & W I R AR

% :

Options:

Fa (ii)
91394359825,

Fad (iil)
A1 3942E982E.

(1) 31T (iid)
91394359827

(ii) 3 (iid)
91394359828,

Question Number : 108 Question Id : 91394315230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

# K'\ IrK\I
If [— > [—] .~ then
\ L A \ L JB
Options:
Country A is labour abundant
912394359829,
Country A is having cheap labour
91394359520, i 8 P
Country A is capital abundant
91394259821,
Capital iz dear in country A
91394359832, P by

Question Number : 108 Question 1d : 91394315230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

AT TR
91394359829, T

AW 9 gE&
91394359830 %ﬂ ?

WA ®
Q1294259821 {{vﬁﬂﬁ{

T AT doh w &

913345538355,

Question Number : 109 Question Id : 91394315231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Opportunity cost theory assumes that
Options:

Labour iz the only factor of production.
91394359533,

Labour is homogeneous.
913343535824,

Cost of commodity is equal to labour cost only.
913245353555,

41394359536, None of the above

Question Number : 109 Question Id : 91394315231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hae wrra fagra & araar &
Options:
Y FIeqreA =h THHE A9 | |
91394259333, ?

oY AT |
913943598324, g &

gt I TG e Y9 I AT % A
91394359835,

Iwdw & @

91334553556,

Question Number : 110 Question Id : 91394315232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Historically the terms of trade of the developing countries have been unfavourable due to
the fact that when income in developed countries rises, the demand for primary goods
declines because

Options:

9129435055y 1noome elasticity of demand for primary gooda ia low.
9139435953y Lnovme elasticity of demand for primary goods is sero.
9139435053y, neome elasticity of demand for primary goods is high.
91394359840, @ elasticity of demand for primary goods is high.

Question Number : 110 Question Id : 91394315232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

tferarfire w9 @ ferasfia <o &t s i od 58 o sfrga o § B e faswfia 2ot 4 s aedt
# & mufis gegad € win vedt 8, w=itE

Options:
srafieh seqadt €t win & s o B @t 2
91394359837
91394359838, frep aeqadt <t wim <t e Y a2
srafieh aeqadt €t win & 3w @ sl Bt R
91394359839,
mefir FeqaAt 1w $ g o s w2
91394359840.

Question Number : 111 Question Id : 91394315233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the following statements in the context of the New Trade Theory :
(i) Itexplains why countries trade in similar goods.
(ii) It assumes free trade.
(iii) It assumes that trade takes place in monopolistic conditions.

(iv) It exploits the economies of seale in production.

Which of the above statements are correct ?
Choose the correct answer from the code given bhelow :
Code :

Options:



(1), (iii) and (iv)
91334553541,

(ii) and (iv)
Q1394359542

(i) and (iii)
91334553543,

(i) and (ii)
B9123345595844.

Question Number : 111 Question Id : 91394315233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T =amn firgrea % ey § Prefafies se=i w fmm fifie

(i) o 39 @1 < sarE w1 ¢ 6 o w1 agw awge § s w1 |
(ii) I Hvh SATIR WA 8 |
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= fiu e d & wd 3w = gf

E T4
Options:

(1), (iii) 3 (iv)
91394359841

(ii) 31 (iv)
91394359842,

(i) 3 (iii)
913943598453,

(i) 3T (i)
91394359844,

Question Number : 112 Question 1d : 91394315234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Intellectual Property Rights include
Options:

91394359845, | atents

Copyrights
Q1294359546 PyTiE



91394359547, 1 rademark

91394350845, ‘M Of the above

Question Number : 112 Question Id : 91394315234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
witfgeh weagr srferen & wfiifer 2

Options:

H13345539845.

B912334559846.

91334553547,

sedw @

B91334559848

Question Number : 113 Question Id : 91394315235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is the appropriate measure of openness of the economy ?
Options:

Exports

913943509840, POTS

Exports — Imports
91394259850, po po

Exports + Imports
GDFP

91334553851,

Exports = Imports

91394359852 Population

Question Number : 113 Question Id : 91394315235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
freafafaa % & - sdsgaea & gore &1 39w 79w 8 2

Options:



91394359850, Pt — sme

Question Number : 114 Question Id : 91394315236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The frequent farm loan waivers in India may give rise to the problem of

Options:

Debt Overhang
913942359853,

4139435055 dverse Selection

91394359555, Tusk Aversion

9139435955, eral Hazard

Question Number : 114 Question 1d : 91394315236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
WA # aran foramt i o arhl o ST T gHE 3099 B el 8 7

Options:

o1 arfasy (3¢ afraten)
91394359853

st =4

913345539854

S Fampan

91334553555

91334553856, e



Question Number : 115 Question Id : 91394315237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are the objectives of the Commission for Agricultural Costs and
Prices (CACP) ?

(i) To ensure meaningful real income levels to the farmers
(ii) To stabilise agricultural prices

(iii) To protect the interest of the consumers

Choose the correct answer from the code given below :

Code :

Options:

(i) and (i)
91394359857,

(i) and (ii)
91394359558,

(i1} and (iii)
91394359859,
91394350860, ~llof the above

Question Number : 115 Question Id : 91394315237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y AT 3t e s (2w ) % siv Pefafad § @ w8 § 2
() Feramt & foru wneds areafas sma e gfifvea s

(i) F geat it e wen
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fr= e 2 # & @ I H g
C T
Options:
(i) 3 (i)
91394359857
(i) 31 (ii)
91394359858,
(i) 31 (i)
91394359859,
o At
91394359860,

Question Number : 116 Question Id : 91394315238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following events in chronological order regarding Indian Economy :
(i)  First Phase of Nationalisation of Banks

(ii) Establishment of Narasimhan Committee on the Banking System
(iii) Enactment of FEMA Act in India

(iv) Establishment of EXIM Bank in India

Choose the correct answer from the code given below :
Code :
Options:
(1), (iw), (ii), (iii)

91334559861,

(1), (iid), (iw), (i)
91334553862,

(1), (111), (i), (iv)
91334553863,

(1), (1), (1ii), (iv)
B123345595864.

Question Number : 116 Question Id : 91394315238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T srdfeqaran & day # frafafaa vemsd it Fesmagam sqaftaa $Hifaw
(i) et &% TSR I TEA =0T
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(iv) wra # ufaam s 6t wyre

Hre feu T e & | W I H g
%He :
Options:
(), (iv), (id), (iii)
91394359861
(i), (i), (iw), (ii)
91394359862,
(i), (iid), (ii), (iv)
91394359863,
(i), (id), (iid), (iv)
91394359864,

Question Number : 117 Question Id : 91394315239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



To compute the ‘Index of Sustainable Economic Welfare', which of the following corrections
is/are made in the value of GDP ?

Options:

Subtract the monetary value of depreciation
21594259865,

Subtract the monetary value of loss due to floods and droughts
91394359366,

Subtract the monetary value of expenditure on defence
91394359867,

Subtract the costs of environmental degradation
21394259868,

Question Number : 117 Question Id : 91394315239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“gaa T FHeamn & gawn o T g Fefafas § @ o deiveT gea gte 3erg § fen
ST § 2

Options:

qeABTE I Hilgeh WA Tl S 7
91394359865,

M@ AR S &
91394350866, 7 @ A g % G e P wern T

& v fohe T s & wifgs qow i ver s R
91394359867

atarofty & it |hTa s g S 8
91394359868,

Question Number : 118 Question Id ;: 91394315240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following crop insurance schemes in the chronological order of their launch :
(i) Comprehensive Crop Insurance Scheme
(ii) National Agriculture Insurance Scheme
(iii) Modified National Agriculture Insurance Scheme
(iv) Pradhan Mantri Fasal Bima Yojana
Choose the correct answer from the code given below :

Code :
Options:

(1), (1), (1ii), (iv)
91334553869,



(id), (iii), (1), (iv)
91334353870,

(1a1), (i), (iv), (1)
91334553871,

(1), (iai), (i), (iv)
B1334559872.

Question Number : 118 Question Id : 91394315240 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfafiga wae st deme wt 339 g8 Ry M % Sresmgan srafea fif
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(i) T Y s e
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% :
Options:
(1), (11), (1ii), (iv)
91394359869,
(1i), (1ii), (1), (iv)
215394259870,
(1ii), (i), (iv), (1)
915394359571,
(1), (111), (i), (iv)
91394359872,

Question Number : 119 Question 1d : 91394315241 Question Type: MCQ Option Shuffling: Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

As per the SRS Bulletin of September 2017, the estimated death rate for Kerala is 7-6, while
for Bihar it is 6. From these data which is the correct inference to draw ?

Options:

Health condition of people in Bihar is better than that in Kerala.
91394359873,

Suicide rate in Kerala is very high.
91394359574,

Life Expectancy in Bihar is higher than that in Kerala.
Q1394259875 “~ '8

:Yes

:Yes



eing of ulation in Kerala is faster than in Bihar.
91394259876, Ageing of pop

Question Number : 119 Question Id : 91394315241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91304350575 O winit i Fares Rt S % AT A 9w R

91334553874, bk R &

e i go | fagn # e ymm I=
91394359875

i G | A H FAHEA F1 TG A
91394359876, FRerC 1 g M b

Question Number : 120 Question Id : 91394315242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The National Rural Health Mission was launched in the year

Options:

B12334559877. 2005

91334553875, 2009

B1334559879. 1998

91334553880, 1991

Question Number : 120 Question Id : 91394315242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et rftor waree firem Freafafiaa # @ fem ad & e man 2
Options:
91394359877, 200

B1334559875. 2009



B12334559879. 1998

91334553880, 1991

Question Number : 121 Question Id : 91394315243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Planning from below is known as

Options:

Centralised planning
91394359551,

Functional planning
91334353882,

Decentralised planning
913245353853,

Structural planning
H1334559884.

Question Number : 121 Question Id : 91394315243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
freret T & Fefiom =t +ad &

Options:

Ffega e
91394359831,

21594259882,

faehf=a fate

B13345539883.

913345598854,

Question Number : 122 Question Id : 91394315244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is not included in the category of Bio-fuels ?

Options:

913943598gs, Dioethanol



Biodiesel

91394359886,
9139435057, _opar Gas

Compressed Natural Gas
91394359888,

Question Number : 122 Question Id : 91394315244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafiga & @ - Sadum (art-wge) 6 aoft & 78 2 2

Options:

LIRIEPE I

91334553855,

91334553556,

91334553857, e

Fditfen wrfae g
91394359888,

Question Number : 123 Question Id : 91394315245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is the author of the book, I do what I do” ?
Options:
Jagdish N. Bhagwati
91594359559 & g

Arvind Panagariya
912334553830,

Raghuram G. Rajan
91394359591,

Am a Sen
91394359892, arty

Question Number : 123 Question 1d : 91394315245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
JETH 7Y G BIC HTE G h @ hiA @ ?

Options:



SATETS U, HTadt
91394359889.

artfamg wamfemn
41394359890,

T St T
91394359291 .

2153394259892, &

Question Number : 124 Question Id : 91394315246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following States in descending order according to Maternal Mortality Ratio
(MMR) as per the Special Bulletin of SRS, May, 2015 :

(i) Assam
(ii) Bihar
(iii) Madhya Pradesh

(iv) Uttar Pradesh
Choose the correct answer from the code given below :

Code :
Options:

(1), (iv), (iii), (i)
B123345539893.

(ii), (iv), (iii), (i)
2159425958594,

(iw), (1), (ii), (i)
91334553535,

(1a1), (i), (1), (iv)
913345538596,

Question Number : 124 Question 1d : 91394315246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(1), (iv), (iid), (ii)
913943591893,

(ii), (iv), (iii), (i)
913943595894,

(iv), (1), (i), (iii)
91394359895,

(i), (ii), (i), (iv)
91394359896,

Question Number : 125 Question Id : 91394315247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the context of ‘Transformation of Aspirational Districts’ programme, consider the
following statements :

(i}  There are 115 districts in this programme.
(ii) The core strategy of this programme is convergence, collaboration and competition.

(iii) There are 49 key performance indicators to measure the progress of the districts.
Choose the correct answer from the code given bhelow :

Code :

Options:

(1) and (ii)
913942595897,

(1) and (iii)
913942598498,

(ii) and (iii)
91394259899,

(1), (ii) and (iii)
21394259900,

Question Number : 125 Question Id : 91394315247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(i) 3 (id)
91394359897,

(i) 3 (iii)
91394359898,

(ii) 3 (iid)
91394359899,

(i), (i) T (iid)
91394359300,

Question Number : 126 Question Id : 91394315248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements :

(i) Minimum Support Price (MSP) policy of India covers only wheat, paddy and
coarse cereals.

(ii) Minimum Support Price (MSP) for Grade-A paddy is always higher than that
of the common paddy.

Choose the correct answer from the code given below :

Code :

Options:

Only (i)
Q12943259901

Only (ii)
Q1294259902

Both (i) and (ii)
Q1594259903

Neither (i) nor (ii)
Q1294259904

Question Number : 126 Question Id : 91394315248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafaa suai o faam Hifsw

(i) a6t =Han andT g (w.wE ) A Fae 11, am i aR e womive st 2

(ii) TS-A 9H &1 =79 a7 qeq (wn.um.d.) 9 9 % = e qed ¥ 9g7 6
Ffereh gt 2 |

fr= i T g2 § @ Wt I A g

C T

Options:

Fad (i)
913943593901

Fad (i)
913943593902,

(i) 3 (i
913943593903, } ) 3

T (i) A F (i)
91394359304,

Question Number : 127 Question Id : 91394315249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is not a macro economic challenge before Indian economy as of now ?
Options:

Depreciation of Indian ru
Q1394259905 P pee

Widening current account deficit
291334253306,

Rising protectionism in the world
913942359307,

High imports of gold
Q1 3943259908, '8 po 8

Question Number : 127 Question Id : 91394315249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiga 5 & -t it srefeaaran % arga 30 uwg aufse snfds S 787 22
Options:
WA 90 1 AT eaA
91394259305, b

=Te @I % HIe 1 dg
91394359906,



forva & wrgan gan weapvraTg
91394359907,

913345533908, A

Question Number : 128 Question 1d : 91394315250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is nof frue for the Third Stage of the Theory of Demographic Transition 7

Options:

91594359909, Birth rate declines faster

Death rate declines but slowly
215394259910,

Population growth becomes zero
91394359911,

Population growth rate approximately stabilizes in a narrow range
Q13943259912 P B PP v &

Question Number : 128 Question 1d : 91394315250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sHifRera Teha firgra % fou Fefefan da s 7@ & 2
Options:

F9 2T dtgar & fret 2
91394359309,

79 I E
9123942359910, B gﬁﬁ%

FaE afg 3t EInil
91394359911 T @ e

saEE 9fg o v Hifia gt & @ fer g wrdt 2
91394359912

Question Number : 129 Question Id : 91394315251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which amongst the following is not an instrument of Money Market ?
Options:

Treasury Bill
913942359913,



Preference Share

2153942359914

Commercial Paper
21594259915,

Certificate of Deposit
91394359916, post

Question Number : 129 Question Id : 91394315251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freaferfiaa 4 & a1 g1 smar # 3uwm 78 2 2

Options:

Fwtt fars

912334559913,

912334559914, W

291594259915, A

21594259916, S =

Question Number : 130 Question Id : 91394315252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is true for the Indian economy according to the World
Bank figures for 2017 ?

Options:

India is now the world's sixth biggest economy.
91334353317,

India’s GDP amounted to $ 5 trillion at the end of 2017.
Q129425991 5,

91394359919, Coih above

91394359920, None of the above

Question Number : 130 Question Id : 91394315252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 2017 % fore fava % arferst % sran wndta srefegaren & fou Frafafas 4 2 s w99 ag@
27

Options:



yid 39 994 fava 6 ot gan ot srfogamn 2 |

91394359917,
T4 2017 % d ¥ WA I Tehet "ol Ic0rg 5 fefora sfen 21
91394359918,
I gl
91394359919,
9 & I T8
91394359920,
Sub-Section Number : 2
Sub-Section Id: 913943777
Question Shuffling Allowed : Yes

Question Number : 131 Question 1d : 91394315253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Business-cycles according to new classical economics are monetary in nature.

Reason (R): These are the result of the fall in real wage rates.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
291394259921,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1394359922
(A) is true, but (R) is false.
91394359923,
(A) is falzse, but (R) is true.
913942359924,

Question Number : 131 Question Id : 91394315253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr &t o fo o &, o & o i (A) B i@ 7% (R) 8 1 el i afen ot e fig o
e *1 FE F T I g |

e (A) : 79 FeTiehe 37 * FTEN ATt it wld @ifgw 7
T (R): & aredfas qaglt 9 H fimrae % ofom €
C T

Options:



(A) # (R) q9T (R), (A) i wat sgrean § |
91394359921, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394359922

(A) T8 B, T (R) Teid 2 |
91394359923,

(A) T &, WG (R) &t 2
91394359924,

Question Number : 132 Question 1d : 91394315254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : India is a service sector driven economy.

Reason (R): Share of the service sector in total employment is highest.
Code :
Options:
91394359925, Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21594259926,

(A) is true, but (R) is false.
Q1294259927

(A) is falzse, but (R) is true.
Q1594259925

Question Number : 132 Question 1d : 91394315254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 31w fu e 8, o & us i (A) @ 3 g@0 7% (R) B | el &t wfge 3t = fag mo
e &1 FE F T I g |

Ffieher (A) : WG Y Adoqawan a1 &= g =iferd & |
% (R) : e T H Hal & 1 39 waifas |
®e !
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394359925, T wd ¢



(A) 3 (R) g1 @&t &, 9 (R), (A) i Gt =arem 76 § |
91394359926,

(A) TH B, (R) Terd & |
Q13942590927 m

(A) T 8, Wg (R) @&t B |
91394359928,

Question Number : 133 Question Id : 91394315255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A progressive income tax is based on equimarginal sacrifice.

Heason (R): Higher the income, lower will be the marginal utility of money for
the tax payer.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394359929

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q12943259950

(A) is true, but (R) is false.
H1334559521.

(A) is false, but (R) is true.
91294359932,

Question Number : 133 Question Id : 91394315255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
e AT F T I g |

fiRe (A) : Uk WIfaeiiel S s g = W i g1 2 |

7% (R) : ueh Fgr # fere ama fadt stfres dnft g B el sotfiven soeft & =m0 gl |
C T
Options:

(A) # (R) 9T (R), (A) 1 #at =gmean & |
91394359929, = el &

(A) 3R (R) ST 58t ¥, g (R), (A) 1 g&t =ame 7 2 |
91394359930.



(A) TEt B, (R) Tefd & |
91394359931 A

(A) T B, (R)T&E 2|
Q13942590952 "T{ﬁ

Question Number : 134 Question Id : 91394315256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In the P.N. Rosenstein-Rodan’s model, the positive role of indivisibilities
in production has been analysed.

Reason (R): Removal of indivisibilities leads to constant returns to scale in production.
Code:
Options:

Both (A) and (R) are true and (R) iz the correct explanation of (A).
2153942599535,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
915943595354,

(A) is true, but (R) is false.
G]13942594935,

(A) is falzse, but (R) is true.
Q1294359956

Question Number : 134 Question Id : 91394315256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr= &t o fog o &, o @ v i (A) B Sfte @ o (R) 8 1 el i afen it e fqg o
Fe & TE F T I g |

stfirg (A) - 9w, T waiea # Iearea # stfamsgar it werenss s &
Fereeraur forem T 2 1

% (R) : FfawTsIaT Ft 7o o wfomreasy Ieurga § Tam & vfawe fer (aargafos) &6 8 |
%
Options:

(A) 3 (R) 9T (R), (A) 1 T8t =grean 2 |
91394359933, = e ¢

(A) 3R (R) ST w8t ¥, g (R), (A) 1 G2t same 7 2 |
91394359934,

(A) TE B, 7 (R) Terd & |
91394359935,



(A) T &, Wg (R) @&t 2 |
91394359936,

Question Number : 135 Question 1d : 91394315257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In an oligopolistic market, there is price rigidity.
HReason (R): Rival firms match price decrease but not price increase.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942359937,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
2153942599358,

(A) is true, but (R) is false.
Q1=294=259929,

(A) is falzse, but (R) is true.
Q1594259940

Question Number : 135 Question 1d : 91394315257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A= gt e fo e 8, T @ o atfirne (A) R o g 99 (R) @ | e =t afen ik e fer e
e &1 FE F T I g |
Sfiere (A) : FeaTfsR sTam § qeg e gt | |
% (R) : weff wH qea 9fg 1 s1gEn 3 w0 ge fivee & e wt §
&
Options:

(A) 3 (R) 9T (R), (A) Fi Tt =arEan & |
91394359937, = § w &

(A) 3 (R) 391 9t €, 70 (R), (A) 1 9t samem T R |
91394359938,

(A) TEt B, (R) Tefd & |
91394359939, A

(A) T ®, 9 (R) @&t 8 |
91294259940,



Sub-Section Number: 3
Sub-Section 1d: 913943778
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 91394315258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

7Y 9
91394359941 OX dx

i?
dy dv
i" 0,520
91394359942, dx”
i}
d d-v
Y <0, =<0
dx dx =
91394259943,
H}
dy . d%
— & D1 _:} =)
dx dx©
91394359944,

Question Number : 136 Question Id : 91394315258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:



I:'?
dy  d%
— >0, :;«::{]
91394359941 OX dx =
i)
dv d°v
df’::»ﬂ; ?}}D
91394359942, o~ dx”
i}
d d=v
df’ <0 dxj; =0
- 5
91394359943,
d‘ﬁrr d—7
d‘—"{ﬂ, 5 0
't —
91394359944,

Question Number : 137 Question Id ;: 91394315259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Harrod's Growth model is given as under :

St=+:r.Yt D=oax<l
It = ﬁ[Yt _Yt.j_] =0
St =I,E

where St = Savings, Yt = Income, It = Investment, t = time

In this model for economic growth, the condition for economic growth is

Options:

P 1
91394359945, P~ O

P <0

p—a
91394359946,

E}D
91394359347,

p >0

91394359945 ¢ P

Question Number : 137 Question Id : 91394315259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e w1 afg wiew fieraq fer man &

St=+:r.‘?t't D=zoa<l
It = ﬁ[Yt _Yt.]_] p>0
St =It

wEl S, =94, Y, = 3, 1 = e, 1= g
Fnfife dafy & 3@ wisa H, anfds dafy 6t od 2

Options:

91394359945, P~ O

P <0
p—a
91394359946,
E}D
91394359947,
B =)

91394359945 ¢ P

Question Number : 138 Question Id : 91394315260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If demand for a consumer is given by the function p = 27 - 3x - x° (where x = quantity
demanded, p = price), the consumer’s surplus at x = 3 is

Options:

913943599493, L5
91394359950, 325
915324359951, 495
91394359952, 50.5

Question Number : 138 Question 1d : 91394315260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a2 ST 1 AT e p = 27 — 3x — x (F& x = T 6 7, p = FA) B, x = 3 T I A
ferter 2

Options:



31.

i}

912334559945,

91334353350, 325
H1334559551. 49.5
91334553952, 50.5

Question Number : 139 Question Id : 91394315261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A monopolist facezs a linear demand curve p = 100 — 4q, while his cost funetion is C = 50 +
20q. The profit maximising output for this monopolist is

Options:

91334553953, 40

91334553954, 20

B1334559955. 10

o

91334553956,

Question Number : 139 Question 1d : 91394315261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

u TehIfaehTlt 1 g win 956 p = 100 — 4q 8, Tl 391 @79 Bed C = 50 + 20q & | 30 TH
fererrt % foru e arfirmam 3 g Foume 2

Options:
91394359953, 0
291394259954, 20
10
91394359955,
5
91394359956,

Question Number : 140 Question Id : 91394315262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and choose the correct answer from the code given below :
ListI List IT

(a) Hawkins-Simon Conditions (i) Theory of Games

(b) Saddle Point (ii) Non-Linear Programming

(¢) Simplex Method (iii) Input-Output Analysis

(d) Kuhn-Tucker Conditions  (iv) Linear Programming

Code:

Options:

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91234359957,

(a)—(ii), (b)—(i), (e)—(iii), (d)—iv)
91594359958,

(a)—(iii), (b)—(ii), (e)~(i), (d)—iv)
H1334559959,

(a)—(iii), (b)—~(1), (e)—{iv), (d)—(ii)
91334259360,

Question Number : 140 Question Id : 91394315262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t gt 11 & =y gafea Hifsm oft A= fgy o e 4 @ a8 @ =t 9f

Tt 1 et I
(a) Eifg-amga 7 (i) shrer fagra
(b) &=« farg (i) -tfae wrfim
(e) Forecram fafy (iii) smra-Frfa fagemo
(d) FA-z T (iv) Y= drrfim
E:
Options:
(a)—{i), (b)—(ii), (e)~(iv), (d)—(iii)
91394359957,
(a)—(id), (b)—(i), (e)—(iii), (d)—(iv)
91394359958,
(a)—(iii), (b)—(ii), (e)—(i), (d)—{iv)
91394359959,
(a)—{iii), (b)—(1), (e)—(iv), (d)—(ii)
91394359960,

Question Number : 141 Question Id : 91394315263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The price elasticity of demand for a good with the demand function q = kp ' (here p is price,
q is quantity demanded and k and r are positive constants) is

Options:

91334553961,

2153394259962,

|

H1334559963.

91394350564 ot constant as the function is non-linear

Question Number : 141 Question 1d : 91394315263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

feeft ag % @i BeH q = kp * (F&f p $d ®, q 7T 6 A0 3R kT ¢ WS = E) F fog win
$ Fra o= Fefefag S @ A 2 2

Options:

H13345595961.

91334553962,

|

913345533963,

91394359964, T iR e e g

Question Number : 142 Question Id : 91394315264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A box contains 10 bulbs, 4 of which are defective. If 3 of the bulbs are drawn randomly
without replacement, what is the probability that all three bulbs are defective ?

Options:
1

91334553365, 30

3
H133455356E6, 4

3
91334553967, 10



4
B1334559965. 10

Question Number : 142 Question Id ;: 91394315264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o afed # 10 9ed @, fd @ 4 moe € 1 3R 3w A fan e qu agfees w9 @ P s
2, at moft t7 wwal % @a g B i feedt gt 2

Options:

21594259965,

91334553966,

B913345533967.

H1334559965. 10

Question Number : 143 Question Id : 91394315265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A series of index numbers is given as follows :
Year: 2014 2015 2016

Index Number : 100 120 126

If the base year is shifted to year 2015, the value of index number in the year 20186, in the
new series will be :

Options:

91334553969, 106

2915334259970,

2913345359971,

-
91394359972, 1012

Question Number : 143 Question 1d : 91394315265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiaa guse gen 6 gaen w e i

T 2014 2015 2016

ehih TEAT : 100 120 126

Tfg smum & wga * 2015 X femn s 7, 9 7% sj@en ® 99 2016 # g w1 w4 foean g 2

Options:

B12334559969. 106

913343535970, 9.2

B13345595971. 108

B123345359972. 151.2

Question Number : 144 Question Id : 91394315266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a two-variable regression, the correlation coefficient between dependent and
independent variables ¥ and X is 0-7. What is the percentage of variations in Y explained
by X7

Options:

91334353973, 49%

B13345595974. %

91334553975, 0.7%

91334553976, 0%

Question Number : 144 Question Id : 91394315266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fg-=n Tz 4, 9% anfg s mma s Yo X S fiugggea s 07 8, T X F g Y &
fore ferer forsro it =amen Bt £ 0
Options:

91334553973, 49%

2915342595974 1%



912334559975, 0.7%

91334353976, 0%

Question Number : 145 Question Id : 91394315267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements about a time series of annual ohservations on sales of a
firm for ten years :

(i) The series will have seasonal variations.
(ii) The series will have a secular trend.

(iii) The series will have cyclical variations.
Choose the correct answer from the code given below :
Code:

Options:

(ii) and (iii)
A1394259977.

(1), (i) and (iii)
91334553975,

(i) and (ii)
B1334559975.

(i) and (iii)
91334553950,

Question Number : 145 Question 1d : 91394315267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Eﬁftﬁﬁ%ﬁaaamiﬁrﬁmﬂzhhﬁimﬁhaaﬂm@i#ﬁamms@aan%aaﬁiiﬁnﬂ%maaamﬁﬁqtﬁﬁmmﬁ%
(i) e § wtest fasor g |

(i) *fEen | g wdfa anft |

(iii) *Jarern # =hra fa=o gm |

fr= fou e g2 & & wd IR H g

E T4

Options:

(ii) 3 (iid)
91394359977,

(i), (ii) 37 (iid)
91394359978,



(i) 3 (id)
91394359979,

(i) 3T (iid)
91394359980,

Question Number : 146 Question Id : 91394315268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Delphi Method (i) Stationarity
(b) Dickey-Fuller Test (ii) Autocorrelation
(¢} Durbin-Watson Test (iii) Testing significance of a regression coefficient
(d) Student’s t-Test (iv) Forecasting
Code:

Options:

(a)—(iv), (b)—~(1), (e)—{ii), (d)—(iii)
91394359951,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234359982,

(a)—iv), (b)—(ii), (e)—(i), (d){iii)
91394359955,

(a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
91334259954,
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Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—(iv), (b)—(i), (e)-(ii), (d)—(iii)
91394359951,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
B1334559982.



(a)—{iv), (b)id), (e)—(i), (d)—iii)
912343599583,

(a)—i), (b)—(iv), (e)-{iii), (d)—(ii)
91234359984,

Question Number : 147 Question 1d : 91394315269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
By autocorrelation we mean that
Options:

The residuals of a regression model are not independent.
Q1 394259985, pe

The residuals of a regression model are related with one or more of the regressors.
Q139432599586

The square of the residuals of a regression model are not equally spread.
Q1394259957. = e v EP

The variance of the residuals of a regression model iz not constant for all observations.
91394359958,
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Correct Marks: 2 Wrong Marks: 0
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913943259985,
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91394359936,
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91394359987,
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91394359933,
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Correct Marks: 2 WrongMarks: 0
In Regression Analysis, if a quantitative variable has ‘m’ categories, one can introduce
Options:

Only m + 1 dummy variables
9139423599589,



Only m — 1 dummy variables

91394359930,

Only m dummy variables
91394259991,

Only 2 m variables
21394259992,
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Correct Marks: 2 Wrong Marks: 0

gy faverw § afg wrmers =t d w @l £, 9t B g = afifee e s o € 2
Options:

Fa m + 1 o =
91394359989

Hae m — 1 §oh =
91394359990,

Fad m qh T
91394359991

91394359990, T M

Question Number : 149 Question 1d : 91394315271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Though two time series are individually non-stationary, their linear combination is
stationary. This is an example of

Options:

91394359993, andomwalk

Spurious regression
91394259994, P 8t

Cointegration
215942599595,

Trend stationarity
91394359996,
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Correct Marks: 2 WrongMarks: 0
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Options:
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913345539593,

912334559994, i

91394359995, O

91334553956,

Question Number : 150 Question Id : 91394315272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

In the context of simultaneous equations econometric models, consider the following
statements :

(i) Both order and rank conditions for identification are to be satisfied before estimation.
(ii) Order condition is a necessary but not a sufficient condition of identification.

(iii) Two-stage least squares method is suitable for over-identified equations.

Which of the above statements is/are correct ?
Choose the correct answer from the code given below :

Code :

Options:

Only (i)
91394359997,

(i), (ii) and (iii)
9194359995,

(i) and (iii)
915943599599,

Only (ii)
91294250000,
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B13345599597.

912334559995,

91334553999,

91334560000,

Fa (i)

(1), (i) 3 (iii)

(i) 3 (iid)

FaA (id)



